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switch your mobile phone off put it in your envelope

place the envelope on your desk
with your university card

seal your envelope

You may use this page as scrap/scratch paper.

Switch your mobile phone off and seal it in the en-
velope provided. Then place your sealed envelope on
your desk.

Please also place your university card on your desk.

If you have a smartwatch or another smart device,
please request an extra envelope for it.

Do not open your envelope(s) until your exam is fin-
ished.

At the end of the exam, please put this page and your
empty envelope(s) in the rubbish bin.

e Bu sayfay1 karalama kagidi olarak kullanabilirsiniz.

e Cep telefonunuzu kapatiniz ve size verilen zarfin igine
koyunuz.  Ardindan kapali zarfi siranmizin lizerine
koyunuz.

e Liitfen oOgrenci kimliginizi de siranizin iizerine

koyunuz.

o Eger akilli saatiniz ya da bagka bir akilli cihaziniz
varsa, litfen onun icin de fazladan bir zarf isteyerek
zarfa koyunuz ve zarfi kapatinz.

e Zarfi, sinav siiresi bitene kadar acmayiniz.

e Smav sonunda liitfen bu sayfay1 ve bog zarfimizi ¢épe
atimz.
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